@ ——RNLO-3XR7V>2T

NTN
AT #OF7 ARy I0—7
A—NILFR -*—C—H-*Bs‘}
KR---HFZ .—[r 71 pa—
KR+ XHF¥ / \ R 1 - 1
& il a
_—_— - ' H
St I WY Wiains 3 ve=
2 B o1 1 1T ——
&?j PR 1A il .
Gt % i
Ci
B B>
B1—
KR:--H &
D 10~90 mm (RfFeefT=)
2D o iy BXE) EBEfH | EXR
mm EISTIE EREE | BE
D mm N N
0
—0.05 d[ C F B B] BZ G Gl B3 C[ n a e h Cr CDr Cu
10 3 _8_010 7 4 8 17 9 M 3X0.5 5 — 05 — — 7 25| 1640 1270 155
12 | 4 85, 8 48 9 2011 M4x07 6 — 05 — — 85 25| 2170 1690 206
13 5 ._8_012 9 575 10 23 13 M 5x0.8 75 — 05 — — 95 3 2650 2260 276
16 6 _8_012 11 8 12 28 16 M 6X1 8 — 06 — — 12 3 4050 4200 510
19 8 _8_015 11 10 12 32 20 M8x125 10 — 06 — — 14 4 4750 5400 660
22 |10 _8_015 1912 13 36 23 M10X1.25 12 — 06 4 — 17 4 5300 6650 810
26 |10 *8.015 12 12 13 3 23 M10X125 12 — 06 4 — 17 4 5300 6650 810
30 |12 _8.013 14 15 15 40 25 M12x15 13 6 06 6 3 23 6 7850 9650 | 1180
32 (12 0y 14 15 15 40 25 MI2x15 13 6 06 6 3 23 6 | 7850 9650 | 1180
35 (16 Oy 18 18 195 52 325 MI6X15 17 8 08 6 3 27 6 |12200 17900| 2180
40 |18 __8_013 20 22 21.5 58 365 M18%X15 19 8 08 6 3 32 6 |14000 22800 | 2790
47 |20 _8_021 24 25 25.5 66 405 M20x15 21 9 08 8 4 37 8 |20700 33500 | 4100
52 |20 _8_021 24 25 255 66 405 M20X15 21 9 08 8 4 37 8 |20700 33500, 4100
62 |24 _8.021 29 30 305 80 495 M24x15 25 11 08 8 4 44 8 |28900 55000, 6700
72 |24 __8_021 29 30 305 80 495 M24x15 25 11 08 8 4 44 8 |28900 55000, 6700
80 |30 _8.021 35 38 37 100 63 M30x15 32 151 8 4 53 8 |45000 88500 10800
85 |30 _8.021 35 38 37 100 63 M30x15 32 151 8 4 53 8 |45000 88500 | 10800
90 |30 _8_021 35 38 37 100 63 M30x15 32 151 8 4 53 8 |45000 88500 10800

i3 1) MEAFAETEHES KR--XH 2, KR---XLLH FEOHTRHNE D DFEZEIF NS0 THS.

E-64




